Geometry H Name: el
Review for Quiz 8.1 -8.3 Date: J i __Period:

Decide whether you are given enough information to determine that the quadrilateral is a
narallelogram.

1) Opposite sides are parallel. Y¢g 2) Opposite sides are congruent Yel

3) Two pairs of consecutive sides are congruent.Nc 4) Two pairs of consecutive angles are congruent. No©
5) Diagonals are congruent. NG 6) Diagonals bisect each other. Ne¢g

7) All four sides are congruent. Yes 8) Consecutive angles are supplementary. ey

Prove that the points represent the vertices of a parallelogram. Use the method indicated.
9) A(-4,7), B(3,0), C(2, -5), D(-5, 2); Both pairs of opposite sides are parallel.
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10) A(-2, 8), B(2, 7), C(5, 1), D(1, 2); Both pairs of opposite sides are congruent.
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Find all possible coordinates for the fourth vertex of a parallelogram with the given vertices. Then draw

the parallelogram on the graph.

11) (4,-1), (-4, 1), (0, 8)
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Describe how to prove that ABCD is a parallelogram.
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15) The diagram shows a battering ram which was used in ancient
times to break through walls. A log is suspended on ropes of
equal length (GF and HJ). The log swings, causing quadrilateral
FGHJ to shift. Inthe diagram, GH = FJ, and GH is parallel to the

ground.
a) Identify FGHJ. Explain.
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12) (3,-4),(-2,-1), (1, 2)
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b) Explain why the log is always parallel to the ground.
Since we Now FEHJ 18 a paralielogram (o) then GH [/ F.Since
the ropes ave equal length, FT will always be paraliel Yo the ground.

16) Complete the following proof.
Given: AABC = ACDA
Prove: ABCD is a parallelogram.
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17) How many triangles are formed by drawing diagonals from one vertex in the figure? Find the sum of the
measures of the interior angles in the figure.

@5, 900°

B) 5, 1080°
£ 6, 900°
b 6, 1080°

5180 = 900°

18) The sum of the measures of the interior angles of a convex quadrilateral is

A) 180°

19) The measure of each interior angle of a regular hexagon is

A) 30° mf:(‘o’l)‘\g‘): qi?_o,_ 120 | ”_00

") v b

(8) 120°

C) 15°
D) 60°

20) The measure of each exterior angle of a regular octagon is

A) 22.5° 5%0*-“0
B) 67.5°

() as°

D) 135°

E)

21) Find the value of x. (The figure may not be drawn to scale.)

B) 108 % =102
%z 5|
C) 49
©)) 51
22) Find the measure of each exterior angle of a regular polygon with 16 sides. F | ,.,.23)-»
n-\o
A) 11.25° 3\,‘03 : 1E°
B) 360°
C) 22.5°

D) 157.5°



23) Find the measure of the missing angle.

" 66° x+ 240 2300

113° X7

24) Find the value of x.

X+ 2327300
X=128°
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26) Find the number of sides of a convex polygon if the measures of its interior angles have a sum of 2880°.

28%0 = (n-2)180
lozn-1
|n=18 ]
27) Find the number of sides of a regular polygon with each interior angle equal to 171°.

71 (n-2)180 1Tin - 1§00 -300
n / _an:-360

in=(n2)-180 - [nzyo
28) Find the measure of an interior an-gle and an exterior angle of a regular polygon with 20 sides.
mt = (20-2)-150 - 340 ——,
= 18480 . MO _
ETIRET \’02
29) Find the measure of an |_t€‘LiQI_ELD£_E and the measure of an exterior angle for a regular 32-gon.
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30) Find each exter|or angle measure in the diagram below
S (x4 15655 X +120=360
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31) For paraltelogram PQLM, if mzPML = 83°, then m£PQL =

A) msPQM

83°

C) 97°
D) msQLM

32) Consecutive angles in a parallelogram are always

A) Congruent angles
B) Complementary angles

@ Supplementary angles

D) Vertical angles

33) Choose the statement that is NOT ALWAYS true.
For any parallelogram

)()/ The diagonals bisect each other
,Bf Opposite sides are congruent
@ The diagonals are perpendicular
) Opposite sides are congruent

34) Find the value of the variables in the parallelogram.

A x=52°9y=105° z = 159°
i

@) x=21°y = H°, 2= 104°

2 x =55y =21° z=104°

P x =105y = 52° z = 159°

35) If ON = X°, LM = 3x + 10, NM = x + 4, and OL = 3y + 3, find the values of x and y given that LMNO is a

parallelogram. Xz=3)('”o |F X=5: .;9...3 = q \f %= -a: %9+3 =9
0 5 N *-3%-10=0 3y=b 3y=-\
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36) Complete the statement for parallelogarm ABCD. Justify your answer.
D c

Opposie Side€ of a pgram are 2 o

37) Find AM in the parallelogram if PN = 10 and MO = 19.

M N \i M0z AM

= 314): AM

P O

38) UVWXis a parallelogram, mZ WXV = 17°, mZWVX = 29°, XW=41, UX =24, Uy=15

a) FindmzWVU. * 429 = uo” /_"‘)Q/lj \l;f7 ’
&

/24
b) Find Wv. =24 /’;\(
(opp Sides are ) Aﬂ” 17¢ 2 /

¢) Find mzXUV.=\34" )
(Lonsecuhve angies are supplernentary )

d) Find UW. \9+16 =30

(dragonals besect edun orver)

39) FGH/ is a parallelogram, m£JHG = 68°, JH =34, GH= 19

2
a) Find mzFH. =112 K}‘{m‘h fv\
= B 19

(Consecutive angles are supplementary ) ; \ H:/ 5w
b) Find JF. =19 / 7 N\
(opp et ave <) J\C’ﬁ B [ B

¢) Find mzGFJ. = 6%’

(opp angies are )

d) Find FG.= 34
(oppsides are )



40) Find a fourth point, D, so that a parallelogram is formed using the vertices A(0, -4), B(5, -3}, C(-4, -3),
and D in any order. Plot your point and draw the parallelogram in the coordinate plane.
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Answer Key
1) Yes/ 12) (6,-1), (0,-7) and (-4, 5)\/ 16) Given; CD; AD; CPCTC;Ina
2) YesV T quadrilateral, if both pair of
3} Nov opp. Sides are congruent,
4) Nov then it is a parallelogram.
5) Nov 3 17y A
6) Yesv - 18)CV
7) Yesv A1E 191V
8) Yes y 20) ¢V
9) Slope of AB = slope of CD =-1; / \4’ 21)pv
Slope of BC = slope of DA =5, ¥ 22)Ccv

Since both pairs of opposite 13) 4B || CD by Corr. Angles ‘/ 23) 114° v
sides are parallel,ABCD is a 24) 128° v

Converse. Since one pair
parallelogram. 25) X=103,y =66

of opposite sides is both

10) AB = CD =17, parallel and congruent, 20/kits
BC = DA = 3+/5. ABCD is a parallelogram. 27) 40 V/ i Y5
Since both pairs of opposite 14) Since both pairs of / 28) It anglec:) 162, e>;t 2gie 18
sides are congruent, ABCD is a opposite angles are 29) ~ }68-0 '~ 11-;2 v
parallelogram. congruent, ABCD is a 30) 557, 60°, 75°, 80° v

11) (8, 6), (0, -8), and (-8, 10)\/ parallelogram. 31) B&
AP 15) a) GF = HJ and GH = FJ, g;;g‘/
A [P so FGHJ is a parallelogram
HRYN AL /|| since both pairs ofoppo/si,t 34) B Jand X*-2and Y- -
I_l_' FARY IR \ sides are congruent. 35) ;;(“ 2= 2d (w; v
i._ ' J \_ L }_/? x GIECHY Iswalyiayssa o = - paraﬁsﬁlgsr;risaore congruent
|-—L% I T i GH || F]. Because GH is 37) 9.5
TN parllel to he ground, thety 30} )\ g ) 134° 930/

is also parallel to the

EENEEERERR ground. Tr;e moving log is 39)a)112°b)19 €} 68° d}34 A

always parallel to the 40) (1,-2), (9, -4), or (-9, -4)

ground.



